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INDIAN ECONOMY 1950-1990
Question 7:

What is Green Revolution? Why was it implemented and how did it benefit the farmers? Explain
in brief.

ANSWER:

Due to low productivity, frequent occurrence of famines and low levels of agricultural
products in the latter half of second five year plan, a team was formed to suggest various ways
to counter these problems. As per the recommendations of the team, government introduced
the use of HYV seeds, modern techniques and inputs like fertilisers, irrigation facilities and
subsidised credit. These steps collectively are known as Intensive Area Development
Programme (IADP). Consequently, in the year 1967-68, food grains production increased nearly
by 25%. Due to this substantial increase of food grains production, this outcome is known as
‘Green Revolution’. The word Green Revolution comprises of two words ‘Green’ that is

associated to crops and ‘Revolution’ is associated to the substantial increase. hH 3cUlcehdl,

37eTel T SR T 3N W 3cumel & foldeT T & HROT q@ll Gaasty Arefelr
& 3T A, g FGATIRN F AHA A & A TR 1 g e & fow o
A &1 5 fohar a2 arl A\ 1 AEIRAT & ITAR, THR & HYV dlell, 3myfaes
dehettehl 3R 3a%ehl, frars giawnsit 3R RIrgdr %01 SA et w1 39T & fhar|
g TRUN I HHGS T ¥ @] &9 fdhrd SRIHA (IADP) & ®9 H STl STl &
Adelde, a¥ 1967-68 #, Wiehlewl 3cdTced # @ITe1T 25% I Jafd g5l Wiedle
3cUIesT &l $H TATC gefel & HRUT, 36 GRUMA & ‘gRA Hifd' & & H S ST
gl BRa sifa asg & af s ATAT & Green W 'S wHT T Jaaa & 3
oo JEf § 8T ¢

Need of Green Revolution

The needs of Green Revolution are as follows.



1. Low Irrigation Facility: The well irrigated and permanent irrigated area was only 17% in 1951.
The major part of area was dependent on rainfall and, consequently, agriculture suffered from

low level of production. ohdH ﬁzrré Qflqu"aT: IS g 9 fARa 3k Tl AR &7
1951 # hael 17% AT| 36 &7 & Y@ fg&ar asT W FeR a1 3K s gRomATasy
Y edieel & ool TR F qNisd ol

2. Conventional and Traditional Approach: The use of conventional inputs and absence of
modern techniques further hampered the agricultural productivity. IRIRE IR IRURS
TISCehIUT: IRURE el & 39T AR IMEYfsh deheilepl & 3T o FY ScTGehdl
H 3T arer 3cTeeT |

3. Frequent Occurrence of Famines: Famines in India were very frequent during the period
1940s to 1970s. Further, due to higher growth rate of populations, agriculture failed to grow at

the same speed. IRART $I TRIRAT: 1940 & 1970 & e & R ART H URER
ag?raﬁ:a:??rl M@, AHEEr $ 3T GhE e & SRoT, Y 38 a1fd § e &
fawer Tl

4. Lack of Finance (credit): Small and marginal farmers found it very difficult to get finance and
credit at cheap rate from the government and banks ,hence, fell an easy prey to the money

lenders. & Fr AT ($f3e): BT 3R AT TFaEAT A TWHR 3R dhf F T X
W) f3a 3R FoT ured AT g HIST o9, SHTAT, Yol SURGIATT & ToIT Teh AT
frPR &7 1|

5. Self-sufficiency: Due to the traditional agricultural practices, low productivity, and to feed
growing population, often food grains were imported that drained away scarce foreign reserves.
It was thought that with the increased production due to Green Revolution, government can

maintain buffer stock and India can achieve self-sufficiency and self-reliable. eI
IRYRE Y Feufci & PHROT, FA 3cAehl, IR Focll §5 T I e &
forw, 31 @iediesT &1 AT fohan ST o1 St geldy faeRll $sR & oA &Y &l
AT g Frar A A1 F gRA Hifd & FROT ¢ gV 3cUe & TNY, TP T Tlh
ST TG Fohcl & AR R IMcATAIRAT 3R TcA-faeaa=ig gifider T gt B

6. Marketising Agriculture: Agriculture was basically for subsistence and, therefore, less amount
of agricultural product was offered for sale in the market. Hence, the need was felt to encourage
the farmers to increase their production and offer a greater portion of their products for sale in




themarket.ﬁ'qvl?rafﬁr:Tﬁﬂﬂ@ﬁﬁ%?ﬁ'@aﬁﬁw,wﬁf%ﬁ
& ToIT S 3cU1G S A AT T UAKA AT 715 M| ST, ThAET S 3TeT SedTeeT
I Jge1 3R IR # f9shr & T 39e 3curel & Ueh a9 fged I U o &
fov dicarfed tel &1 EGTHaT AgqH FH TS|

Question 8:
Explain ‘growth with equity’ as a planning objective.
ANSWER:

Both growth and equity are the two important aspects of India’s five year plans. While growth
refers to the increase in GDP over a long period of time equity refers to an equitable distribution
of GDP so that the benefits due to higher economic growth are shared by all sections of
population. Equity implies social justice. Growth itself is desirable but growth in itself does not
guarantee the welfare of people. Growth is assessed by the market value of goods and services
(GDP) and it may be possible that the goods and services that are produced may not benefit the
majority of population. In other words, only a few with high level of living and money income
may get the share of GDP. Hence, growth with equity is a rational and desirable objective of
planning. This objective ensures that the benefits of high growth are shared by all the people
equally and, hence, this not only leads to reduction of inequality of income, poverty promotion
of egalitarian society but also enables everyone to be self-reliant. Therefore, to conclude, it can

be said that growth with equity is the most important objective of an economic planning. ICEar
A SR AT R B Gy AT F @ Ageaqet Uge| ¥ SWfe e
ST # gefer & Fefid aar § gAg 1 o 3afr & fav sfFad g & aaA
AaRoT 1 g Har § dife 3= 3nfde 9 & SROT oy Ja8EaT & Tl gait
CaNT IS fhU SU|  FHAIAT & dcqd QAT #OF 8 §l G &6 aioeda
& AfdheT 319 3T # a9l & Fedmor & ARET L &t &1 Aera # FHedicheT
&3 3R Qa3 (SNE) & ST6R Hed d fohar Siiar & 3R I8 997 &) Fohall &
S a3 3R Qa3 FT 3curesT fFar Sar &, 36 & AR EIEr H o1t o
81l g Usal #, 3T &R & Shfad AR & A a1 $o & Sherdy o e gred
X Gohd ¢l safa, sfFadY & Ty A ATl H Tk donddld 3R IS 36T




€l 6 360T PRART AT & fob 3oa [qeprd &7 o1e Tl o9l R’ FAT &9 4
e forar Srar § 31 53T, I8 & had 3T T YA H FmH AT &, dfod
FHATATGT FATST FI IS Sl ST Sl g, Thed T Dl HTcATAIR gt H F&TH FelTcl
g1 safav, ey Fereas & fov, I8 w81 o Torar ¢ & sfFadr & oy ey s
¥k AT I HIH Hgeadqul 3667 ¢




